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QUESTION 1

Click the Exhibit button.

[edit protocols bgpl

user@router# show

group ibgp {
type internal:;
local-preference 125;
neighbor 10.1.1.1;
neighbor 10.2.2.2;
neighbor 10.3.3.3;

}

[edit policy-options]
user@router# show
policy-statement bgp-preference {

term 1 ({
from neighbor 10.1.1.1;
then ({
leocal-preference 130;
accept:
}
}
term 2 {
from neighbor 10.2.2.2;
then ({
local-preference 90;
accept;
}

Referring to the exhibit, which statement is correct?

A. Routes from 10.1.1.1 are more preferred than routes from 10.2.2.2

B. Routes from 10.2.2.2 are less preferred than the default local preference
C. Routes from 10.3.3.3 are more preferred than the default local preference
D. Routes from 10.2.2.2 are less preferred than routes from 10.3.3.3

Correct Answer: C
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QUESTION 2

Click the Exhibit button.

11\ 10.10.1.1 10.10.1.2 /1| N 10.10.3.1 10.10.3.2 /1| ) 10.1055
Uy N AU
Router-A

You must create a static route on Router-A to the 10.10.5.0/24 network using 10.10.3.2 as the next hop. Referring to the
exhibit, which configuration accomplishes this task?
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€A master:0} [edit]
user@Router-A# show routing-options
static {
route 10.10.9.0/24 next-hop 10.10.3.2;
}
' B user@Router-A# show routing-options
static {
route 10.10.5.0/24 next-hop 10.10.1.2;
}
Ve [master:0} [edit]
user@Router-A# show routing-options
static {
route 10.10.5.0/24 |
next-hop 10.10.3.2;
qualified-next-hop 10.10.1.2;
1
}
B [master:0} [edit]
user@Router-A# show routing-options
static {
route 10.10.5.0/24 {
next-hop 10.10.3.2;
resolve;
1
1
A. Option A
B. Option B
C. Option C
D. Option D
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Correct Answer: D

QUESTION 3

Click the Exhibit button.

AS 65110

AS 65111

R3

Referring to the exhibit, which two statements are true? (Choose two.)

A. The BGP peering between R1 and R4 should use loopback interface addresses

B. The BGP peering between R1 and R4 should use physical interface addresses

C. The BGP peerings between R1, R2, and R3 should use loopback interface addresses
D. The BGP peerings between R1, R2, and R3 should use physical interface addresses

Correct Answer: BC

QUESTION 4

Which two IP addresses are considered Martian addresses? (Choose two.)
A. 0.0.0.0/8

B. 192.168.0.0/8

C. 240.0.0.0/4

D. 169.254.0.0/16
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Correct Answer: AC

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/recognize-martian-addrrouting.html

QUESTION 5

According to Juniper Networks, what are two reasons to peer using loopback addresses when configuring BGP?
(Choose two.)

A. When establishing an IBGP connection

B. When routers are not in the same autonomous system
C. When routers are not directly connected

D. When establishing a single-link EBGP connection

Correct Answer: AC

Latest JINO-362 Dumps JNO-362 PDF Dumps JNO-362 Practice Test

Latest INO-362 Dumps | INO-362 PDF Dumps | JNO-362 Practice Test 6/6


https://www.pass4itsure.com/jn0-362.html
https://www.pass4itsure.com/jn0-362.html
https://www.pass4itsure.com/jn0-362.html
http://www.tcpdf.org
https://www.pass4itsure.com/jn0-362.html
https://www.pass4itsure.com/jn0-362.html
https://www.pass4itsure.com/jn0-362.html

